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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Shect and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
VL% 1S5 A y7y et celp Sz 0
Designer Programmer Manager Operator The person who writes a program is called
-c“.b‘/d‘f"lu'vl_f u:du‘.‘.'d?!u’/n:;«)ﬁvgl 2
6 5 4 3
A float variable takes ‘bytes in memory.
?Jn{.&,a‘ﬁ(f}/&}(w 3
1 3 4 0 What will be the output of following code
printf(“zd” 3 <4);
afy e .
main() getch() printf() scanf() ?‘a"fﬁb"é"" Lot | 4
Which is an output function?
-mrw S s
5 4 3 2 o 1 i
Theré al‘e types lection statement.
. Y { = .
if(d76==0) | if(d#5==0) | if(d#4==0) | if(dr3==0) | o °“"”"/‘ff “torixind=16,1| .6
If int'd=16; which of the following statements is true?
R . o
<’ J;/’f NS __{) -:‘;Cﬁ(gyﬁ»’/qrﬁakuzcugfﬁ//‘/ T
Data Control Conditional Loop structure allows repetition of a set of
instructions.
uf,?;d— fj) /"”'/ L -u,?z.ﬁu"/‘/’;!)’d/ﬁ.' UKAL(—A .8
Random Divided Scattered Contiguous | Array elements are stored at memory
locations.
ok T | Gy st -« char(“char cd(){return 2’} | .9
" Argument Array Return type Body char cd( ){return ‘a’}, in this function char is
oufu!?un:é’f’u/mow&w’éﬁ .10
10 5 2 1 kb
If there are 10 return statements in function body,
of them will be executed.

— 1041 - 1024 - 24000( 1)
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Answer briefly any Four parts from the followings. ~ 4x2=08 ..u'/ j u“i/‘! Liz ch_a:{ c_ufd' 5Ciss .2/) Jir
What is computer program? "c._l/(l;://y{ ®
Describe the method to write multi-line comments. -J_/ g Vi1 ‘L‘T UM,..«.S U4 U{jj' Gi)
Differentiate between int and float data types. ’ <QIugJ)ufu::’0&5ﬂoat stint  GiD)
Write down the output of following code. g _J‘.”V JJ,;.:JTJ)’J( St Gv)
inta=4%3/(5+1)+7; inta=4-3/(5+1)+7~,
printf(“#d”, a); printf(“d”, a);
Describe the use of AND (&&) operator with example. J/gb/ﬁ_JJVfJL"IL(&&) 24 TAND GV )
What is the purpose of getch () function. U ulr)/-“‘(;fﬁ getech() (v
Answer briefly any Four parts from the followiﬁgs. 4x2=08 .u‘/ v /’ ..«Ui/‘f Ll]ubc_af c_uﬁJ;bj; 3 le
Describe the limitation of if statement, ) - 37 UUdFMJ Jlf [O)
What is a common mistake in compound statements? Qc.lfow rbdua,ruf u“’/ (ii)
Describé array size and declare an array which can hold 5 d’"’ét;‘j//(,bﬂ.flmg/u;uuf/ng_,,l (i)
real values. ) -zﬁ/bffu“" )
Define array initialization. ' ,‘/’/_,;_J;/Juﬂyufy«‘_,; Gv)
Identify errors in the following code segment. BSOS SIS AV ed®] 2 W)
printf(* Selectlon ) printf(“Selection”)
else else

printf(“Structure”) printf(“Structure”)

~ Write down output of the following code segment. ' -u.-‘guuﬂ d/u:" L;)/J);/M i)

if(10%3==0) if(10%3==0)
prmtf( Even”); prmtf( Even’);
printf(“Programming Makes Life Easy”); printf(“Programming Makes Life Easy”);
Answer briefly any Four parts from the followings.  4x2=08 .4.{/ j u&li/"’ Llil/bcé:{ c,ufd:bu Af Jlr
Write the structure of function Signature. , <t Sy j 5 lml(/'f/ U,D ®
What is function body? Ce sl /lfc_d)Luﬁ G
What are user~defined functions? ‘.’u_‘}’d_ng/a Fwiuy  Gid
Define Nested loop. » T RS /)11 (O O €))
Find out the output of the following code ) _J n.lf.‘/.__c,ﬁd/;’:( J, it W)
for(int y = 0; y<—1 y++) for(int y=0; y<=1; y++)
prmti( xd” | y), ' printf(“zd” , y);
Find out the output of the code. -Q/(JU’UJGL/:)"(JJ@” (v
int X[21= {4488} int X[2] = {44, 88}
printf(“zd” , X[0]) printf(“zd” , X[0]D
Part. SIS | | (29— -

Note: Attempt any Two Questions. 8x2=16 _Q/ /,J’ .-,U_?.L:amf»c_é:(:dd
Explain structure of C-program in details. _ﬂ(_&;u,/&p‘fr;ﬁ,‘utéﬁ;c 5
Explain printf( ) and scanf() function with 4l wu:c._u)‘}‘f fﬁ scanf() siprintf() 6
examples.

Write a program in C language to print 1 to 20 Even L.L(lju..ﬁu"f/:adg,fa_/vb’i g dfor 7
numbers using for loop. -4_/4/)‘,&1\.“7..,( 20 e 1 2

&/7)//7/ 1042 = 1024 = 24000
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) €) (8) (A) QUESTIONS Q-1
oy S RABE b/ -4,054.,9.}/0"?/;5,‘):7;1For, 1
Float Body Initialization | Condition | In for loop, this expression is executed only once
)U)/'J/ e u;f—-j/ 2.)14-/{ -ujz.nsﬁ‘/,atw d:du{’uK/lL(__/l 2
Controlled | Contigeous Divided Scattered Array elements are stored at memory
locations:
e dﬂf Wl Ay The function -u,?LU;( )’56::?)’@'.'6/“/ WiC | 3
Selected Repetitive Built-in User defined | which are available in C standard library are called
void never nothing null A _c‘-én:;eupg,(w.«_/,;uduafdfféz 4
function that does not return anything has return type.
) -g.y;:r(?(&ld/_;u:fc;ufu! 5
=colour number $var 2car ’
: ’ Which of these is valid variable name
, A LS o ALLLTnES P 6
ftializing a variable, we use operator
“9” “Pak” ‘9’ : -:‘_(Constant).‘f:u KA e S | 7
Which of these is a valid.character constant
e S0ty HAfic | 8
12 3 0.5 45 ] i
The value of C expression (10%6)#3 is
b & j
_a‘_wwg’&f;utur 9
while int for if
Which of the following is selection statement
Fail 70 Pass 33 e T3 st | .10
What is the output of the following code.
int m=70;
if(m> = 40)
printf(“Pass”);
else
printf(“Fail”);

@//j/ 1043 - 1024 = 16000(3)

°




& ©

2

(ol X O AV ’ -

]

‘ﬁ'd ,:.{m r / ‘Ju;_u,.;/,;f ll)"J' N
s 2020-22 10 2022-24 ¥ « T Al (Arariz) 1024

a0 AF SALP-22Y 88 1145 15 () SLsed

./, VDI | W@
Answer briefly any Four parts from the followings.  4x2=08 vu_’f /_j' AR /‘.” Ziz l/kc_éf LS ts 2 / Jir

What is purpose oftcxt-editor??."'_t‘T((J(/%.&l..‘/zg @
AL AT pteaS G
‘.’;.(K\/bﬂf’@ 'printf( ) Gv)

Define format Sl’“iﬁef&&.{;\—i‘/"&/’k‘fu‘f:‘/ﬁ; D Find out the error from the following code.-g[//‘jl}i‘z/,lc;ﬁ5/i5,?1ﬂ 1))

Whatis IDE? S/ IDE. (ii)
Writc down the names of Comments types.

Write down the purpose of printf( ) function.

) include<stdio.h>
Answer bricfly any Four parts from the followings.  4x2=08 -u_’/ /_f =2 /"’ L1z J("C.—Jf Lt 3 / Jir
Identify crrors in the following code. -2 F1 sz 43/ 3G () Whatis the output of following code?S e Y ete e d T3/t it ®

int age =60 intt(a =40, ;
’ ifla+30%4==260
> . o« »
1f§age 65); » printf“Yes”);
printf(“0ld Citizen”); elsc
printt(“No”);

" Writc the syntax of array dcclaration.-éﬂ(y’i/’:‘fjgﬂ (iv) Define Compound statemcnt._?'_f‘._é!/']&;,’/":",‘cfg (iii)

a3

?‘a«jf'&fuﬁu’wﬂ%ﬂﬂ;& (2]

Declare an array of float and initialize it with theheight of five 7ué’tiv£c/GJufJétc1/;12“_5%54_11.‘,)341 ;
y & v 1 : (vi)

What is difference between sequential and conditional statements?

persons. ' -Z‘J‘:

Answer briefly any Four parts from the followings. [ -4x2=08 ..g_{/ 4,;’ el /:" Ziz l/lgc._‘;f Lt 4 /‘ Jir
Draw the flow chart of for Loop? ~(/ L'/.._’,Ag)f’ §sFor (i) What are the advantages of Loop? S U415 Lot @
Define Reusability of function. ' -Q/VQ;JJWML»L‘T&E Gi)

What is calling a function? ' ?c;.)!/l;fc,Jb’Jui@ Gv) -
UL T LB
‘.‘Jny/_'/,.:sﬂﬁfdjbn (vi)

What you know about the body of a function?

What will be the output of code?

int xyz(int n) . int xyz{int n)

return n*n; return n*n;
) : .
int main () ' ‘ int main ()

int P=xyz(7); . int P=xyz(7);

printf(“#d”, P); printf(“#d”, P); iy

}
1 P it ' o v
Note: Attempt any Two Questions. 8x2=16 4. /. /,j’ &LIJ?L&UD’JJLGJ(:@)

Y deesdpfiy b e s

Describe the structure of program in C-Language.

Define operators. Explain arithmetic operators in 2+6 Ll)jﬂJW'Uﬁ@J@C..J“/»?/TJJﬁ/J .6
C-Language. . ’ _Q/yU)JJﬁ4T~ﬁ://I

Write a program that print first ten natural numbers on the Liz.nZ S Je1/For Loop (~C-Language .7

Screcn using For-Loop. ~<_/¢;4)’):m84,5104[zu:’t>.r1/,4
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